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Total No. of Questions: 71 Total NoffP?l?ted Fms: :EB
(™ 2 72 45 fe) ipmiF ap)
[Time: 2 Hours 45 Minutes) ~ [Full Marks: 80}
wrmal # ford -
Instructions for the candidates:

t kel qur e s s & @ e @
Candwates are required to give their answers in their own words as lar as practicable

2 TR SN et w R §U 5F quin e g 2y
Figures in the nght hand margin indicale lull marks

I F A G & eqapE 929 3Ry 15 Rae a1 sfREr o a2y
15 Minutes of extia time has been allotted for the candwdates lo read the queslions carefully.
I TFuE-niGtavEl Il AW -y wEaT - )

This question paper is divided into iwo sections - Section - A and Seglion - B

5 v -3H 40 wgle mra & wf o sfard 84 (wde 3 e 1 3w Pl 8) g gew
GUTel BV T OMR- T qAE 4 R M wd ga @ wid/fe a7 @ o5
Rl f wER ¥ @IS/ A TR AT/ TG IR I T Ywr 7 gahw wvw
T & T e R sy g

In Section - A, there are 40 objective type questions which are compulsory, each carrying 1 mark. Darken
the circle with blue/black ball pen against the comect option on OMR Answer Shee! provided lo you.
Do not use Whitener/Liquid/Blade/Nall etc. on OMR Sheel; otherwise the result will be lavalid.
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TR Rart # 5= 6 v (@8100.13) 2 v < Rl 2 vt @ G Q)

SRIATER 3 I 3 €T (0,16 10 0.18) & A R 2 TR 1 SR TS

I & i 5 097 10.2110 0.25) & Lt 3 AT 3 weR FT TR D)

YV VR ) 37 4 0 02810 Q1) & e @ A 2 TR 0 AW 3

FTE ST TS 8 I G T (@6, 0.7, 0.14, 0,15, Q.19, 0.20, 0.26 and 0.27) 123}

/s 4 [‘W-F A
F R 4 3w Py #)) efen AR Qs e U7 e @ b g
In Section . g

there are 23 short answer
type questionsicl.5 ects under ience
Carrying 2 Marks) as below: s ’ et E

Science. Economics ang Geography.

P &mmsmﬁammm&mmm
Use of any electronic apphances js Sinclly prohibited.
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mug -3/ SECTION - A
g Ut /Objective Type Questions »
o0 1@ @ TED 7¥T B A A e fre o & A @ 06 wé 21

. ¢ @
e 40X 1=40)

) e faar o) OMR - e we [T B ( |
il ‘ : ; lecte
il [ to 40 have four aptions, aut of which only one is correct. You have to mark, your s¢
{!Hrﬂﬁm Ao 10 ' RS

on the OVIR= Sheet.
.!{:fh'-f, oY Qs ayeforeE W St Wi

"F".'m-

g .
fistory Geography Palitical Science, FEeonnmics and Disavier Management.
, l-.ll’" _‘o td

oo A R DU AR IR R an 47

1400
(BY) 1895 (h

(Cy o 1915 (M, 1916

In which year did Grandhi ji establish the Sabarmati Ashram?

(A) 185 i LX)
€y IS (h 06
2, g oA @ S B E3fleen?
(A) 1 ST 2000 (By 9 TR 2000
(Cre 15 Y 2000 s () 15 TR 2001

When was Jharkhand state formed -

(\) | November 2000 113 9 November 2000
(C) & 15 November 200K : (M 15 November 2001

3, e & e R e S e - |
(Cre 1087 A (M 1990 &

The most devastating earthquake in India occurred in -

Ay 1934 B) 1948
(€ 1967 @ 1w
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PR B GUCINE ELIRIE R e qeaa e

g, 1wt A
Y LU LG8 B4

ki oA depen Y

i &
Whi li patty gt it s leat maponty

araAp el B th QLAY B A SN G EOMN EA

i the 1977 Lok Sabha clection”

th Janta Pany

(Al Mhaenrya Janta Party

" Hhastiya Rashiniya Congress tn Mhartva Communist Pasty
] 4 ¥

g B s En e Y

20410 ST Eatd]

0, an) o

Ay
() o TG

Whee fewmded thie Bralino Santay?

m PRI CCERIELD G
4] JAHEWT WHEN

(A) Raspa Ram Mohan Roy (m Dayunand Saraswal
" Wik s (M, Ramahnishna Paramhansa
11, et i gy @) e &9 557
(A) o 1RAS (B 1890
) 1695 m 1900
When was the Imlian National Congress establishied?
A INNS () 1890
&) 189S M 1900
12, Fyafaftaa i @ ata e gt w smafa A8 &7
YR i o ) o @
() &l im»p e
Which industry i not bused on agriculiure?
(A)  Cottencloth (B Cement
() Sugar ) Jute
13, A e @ e arared e & -
(A) W1 §6IE I (B) W IHFIE @
© W T D)« H TS g
Hangliadeshi cconomist honoured with Nabel Prize is-
(A) Prol. lgbal Yunus (B) Md. Igbal Yunus
(C) Prof. Md. Yunus (D) Md. Shafik Yunus
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q @ :.‘F?’f"'r’
l'. ‘ﬂﬂ - "“ ll.nm
TRl
(A) o A
" @l .
Which o these i+ a0t 2 patural dis
11l Taunanm
"‘| Tmpn\m
(M Farthyjuake
() Flod
9, FWET UK ot T €4 -
(h 1089
& et 4] oot
(1990 i =
Jawahar Rozgar yujana was implcnwnlrd in-
(A) 0SS i} 19K
(&) 19N} tm 1l
5. W@ TR @ U W e -
(A) o ST (" e
€ ¥ (m i 00N
\What are the key compunents of humah capital?
(A) Knowledge (B skill
(0 Expenence ({}]] Al of these
2 gwa 3§ R TR s 2
(A) o M (B) 19
How many Nationalized banks are there in India?
(A) 14 (B) 9
© 20 m 2
2. Rrof T WA @ e T 8 aftera en?
“w  Rew (B)e TITIH
ke m B
Lichchhavi Republic was located in which state of India?
(A)  Bi
tC) Ihﬂf (B’ Rﬂju\lhan
htra (11} Trnpura
J11]F x
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‘ = - -~ zn :rh mn
BRI R U T T W A I - @ - R A R @ S a3
o?

LAY 00 o fim R 125 fa & fau
W yso e & (M 200 =1 9 1
Unler NRE

: el o rural Laboreny
GAL what is the provisten of minimum rumber of days of employment for
na year?

Ay For 100 days T Fur 125 days
€ For 15t dup (M For 200 duys .

S freg - AR HTE \WTO) 4 B T &7
1A) 1892 im 1993
L&) 1994 im 1995
When the wind Trade Organization wus founded -
Ay 1992 11! M3
(Cy 19y (m 1945

R (L DR T TE T ap?
N T4 (PR
LY ELL tth~" wm
Who was the *Sick mun of Curope™?
(A Turkey m Ttaly
(C) Englangd m France

7 T-:nﬁ'.aﬁlmﬁmﬁﬁnm%?
N, PR W A

) LIEa) (1M} TR

Mandar Hill is situated in which districy?
(\) Munger (B) Bhagalpur
(&) Bunka {n Buxar

K. wm#mmmmfmmmw
(A) 2004 (B 2005
(C) 2008 M 2007
When the government of India passed the “Right to Information Acy™?
(A) NN 1Y 2005
(€ 2006 200
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tA)

i 1 TR S
i . BT e - args
The biggest pon of Inudia by
LY} \
@ lumba B Chenna
b e Kolla
o oata M Kandis
L f-Cr >~y .
?'3 s L3 ‘M TF 13?{4 Wi 1‘}1-:)
(A} i‘lu.?,w qar
«w M gy
VS WarEx g .
Whe i #stganes tn.
K Aned the pubhicatin of the “Hindustan Resiew "
: Ramal .
() Mu'lm::::a — W Sn Ko Sin g
[ s M Sag,
T8 fSrimy iy : ! Y
s ?: lt;n I Em a? - http://wweg BschsBedy . com
(«w Y W W - v g ¢
The il i {0y TR ¥ ':H S
(A PUrPose 10 buily Golghar in Punn;n-. e
) Tolk . :
cep the soldiory
& T Y B Ty
cep graing “P the Arms ng |
17, AT g a i T“'““hhip ANMUNn,
B e -
€ swh e @ i m: o 2 ¥ g
STePARATAr 1y im‘lb for ?Il‘"r RREE 2 F-a'{:
iy News print (B) Cement
W T e R teiles
I B 2w a0y
the election symbol of (he Bhaniiya J
(A) me Nt pany?
€ Marigoy B Lows Nower
: ™M Whee
[#11)F
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1

LT TS T
\.I‘h.-,_ Fe =
A v N e 10 o gd

Ay ] \
e i W
Iy <o
I et
N ow | A [
A AR I ernatinniyin] £ alwog Ay prb it was e “'“""’twd
W o im0
| ETRY
LT | o Izt
A | BT ) T ;
L\ Bt MR e W e fhad) B
« 01
;‘b' 6y " "
11\“ ll'" “?
any, “u"h-". Memis 3 = '
t\) ol WO he 16" 1ok Sabla !
e - n ()
.:tj‘.'] ‘1’ d} .{_".‘ :::}ﬂ‘ - - P ‘.’l ({1
N g 0 LR
SE§
() W 1]l A
W hich [l 1 il
the Wl TR "
RS ot foreipn | P!
::‘ My iy V'O "
Y Fond (im Toyota
{T\n‘:\a‘Qr 7 l‘.:iﬁ g {|" i lr\r'\
(A qn%ay &
] \J\ A ‘J 1
() Fifen s -
¢ (D maths
Highest ranttall oveurs in - / .
(\) Purmia ) i
- » . ‘m 1
() Kochi TP
o (mn Maw svriram
T Fam & E 9 g &7
(A) u= (") LiCEt
(C) o W@ LU G E S
Who is the head of the village kutchery?
(B) Sampanch

(A) Panch

(m Jusuce fremd

() Pramukh
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P ) I LR A T R ) CHNRE K TR { IY POy R 1 Ne oA o 100 wima) P G e YR 00 B

(A areag ) A e -

0y o Manm | 1T Y an it d gie o

“Premwrin y by ol the people, fir e pmqm amid iy the preopte W hmee stateaent s

(A) Aristinh 11} Cavem e S adunipm

(1 1]] }oooind “l:ul

(8] Abraham Lunoln

grsrat 1 st et dw o g/

1A o 1 " PR
i i

) a1
In which country the nvention ol papet toob, place !

(A) China (11]] Giermany

(&) Japan (i Home
AR arnann @t oena fna ad ean?

(A) 2012 L] 2013

(C) 4 204 (tm 2015
In which year the election of the 16% Lok Sabha way held?

(A) 20012 11} 2013

() 214 1] 2018

A9 & 3 sfaurR AR faan a?

(A)  whuea (B) WA g

)  enEd M o Maa

Who invented safety lamp?

(A)  Crompton (m James Hargreaves
(€ Humphry Davy (D) John K
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L1
e g, ek gy,

(R DRTTE
|.\|. W mn fhaid
"W ey I i sl
Wiy, 11 bty ) Yoy | g
" Mar s it anbabh
L Viewy o Iy | Uh Muswil
M g N0l gy HaAN g NG g ps
A\ AR LTT TP ’ " asmd spun )
e o UL TP f n danl ey 7
Whiy WY e i gy, Witgen Nt Wighway +
A\ Wighwgy M ) i) Wighway m 3
twhH Wigliway ) "y Tighway 1 7
ALY M faen Wit @
WY& awma g gy LT e
W ag g B PV P
Wk o Mitalvle foy -
A) Contjny () TR
i) Wi (LT Y KT
36, 2 My W v e o
N mdtegge LI N
€ e gy e an
Pulse is the v of which nutrition?
AN Calyiiane W Wotem
) Vb W
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LA N s A AR oo N gy figeonr detel v !

i

YRR R T !

i DRI D Ty i

AW hont e Phansising & inppignspon v e fabilishrsdd b frishia !

AL (R RTRY TR AT i T

1N P 0 baiban |93 i i oeb 1
Wt e g e

(Al o i i ¢

i fi:te

i) LA
Wiwow wiee Kol Mags B!
(Al Cleritanm i bonglanued

TN 1) Vo

W, Mt aenn ann

A) a4 11 oL

() e flal WY a1 et 0 1 gl Abetl alte 120 H

Hrass i e ol

Ay Coppet (" /it

() Copper and Zim m Copges. Zine and Tin

o, gl o ) ouraln ol af p?

(A)  wigphe Ay i g Nt

i e (i A
Which ol these bs nut the primary encigy’
(A)  Natural gas 1 Perrleum
©  Bearnicity i Gl

2
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H.

N

I5.

MF\

AANRY_fA51:1 / Political Science
~ s 313 79 gaflag wrt &1 5 & [l 2 ard & gue ¥ et w v 2 s
(2x2=u)

e
Ws 1 answer (ype. Auswer any 2 questions. Each question carries 2

cstion VO 8 ta 13 is sho
(1 : e

k. o N
- £ memted FE D fan wra Ta1 F? o

l y promole communal harmony.

g will youdo it
Wha .

Frqt ST & g seed @l t?
:n ohjectives of Chipko Moy cement?
y (2)

Describe four prohlems of Indian Democrcy.
(2)

o g aou fE BE 87
What is secular state?

wendt g @ &7 3
What is concurrent list?

wﬁfmaﬁ:ﬁwﬂﬁ-‘ﬁm:ﬁﬁwm -

{ two measures [0 make paliigal parties more ellective.

A gada uri/Long Answer Type Questions
grr G 14 o 15 3 aedg weT &) g @ R 0w FT I @) (ax1=4)

Questions No. 14 and 15 are Long Answer Type questions. Answer any one of the
(Ix1=4)

Sugges

Jollowing.
A R TR ol @ R | 4

Write any four causes of Communalism.

e o vl @

Wnie li
main functions of Political Panties.

Page 13 ol 16
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aferre / Economics |
M,wsaﬁ?#lﬂﬁ?ﬁa‘ﬂw
(o)

g¥7 WA 16 ¥ 18 o Tada 0 &1 g @

s Pt &1

ions. Ench question cq
Question No, 16 ta 18 i short answer type. Answer any 2 quahes ) rrics
Y marks, (2x2=4

06, SAa ABTRY TR @ @M HET &7 (b

L .
What iv the smportance of ceoronie infrasinn e )

- Z 7 1}
17, wontfed 8 o g IS 2

Wikat dho i inan by cooperative!

8 . &) ]
I8, SONEGST & e F T - M TNIE B 2

Whait e the differcnn wavs b IER cOmUNER getevploited”

&} 3o 794/ Long Answer Type Questions
ge s 18 v 20 & e wer @) g @ Rl @ @1 oI & faxs=4)

Questiuny No. 19 and 20 are Long Anwer Type questions. Answer any one of the

, following.  http://www.bsebstudy.com t4xl=4)

19. e i snfere Mudua & am FRm 87 i

What are the teasans lor econminic hachwandness of Bihw?

20, G5 A MR WU Wi S | 4

Explun the erfects of ghatalization on Bibar.

[211] F Page 14 ol 16
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e ¥ wRag @) Rl @ vt R

¢l / Goquraphy

g 4T 21 W25 Y Sl wrt d1gd A1l 3w @ e @) won
n o ey o

it &1
Jom fwili ‘ (3x2=0)
mrﬂfllu No. 2w 250 short auswer (Ype. Answer any 3 questions. Each yuestiun carrnes
¢
2 mnr““ . . l.‘ﬂlﬂﬂl
LA A ¥ 2y

gt unen

. 'y yt ¥ o
the hrw:n-ntinn ol natural pesauiees nevessary.
Why
2y

& geuraa A IS aa utg 87

"’J 1

by i Maharashird famous for the productiun ol cotton?
Why s

g i a3 yfvn ani 87 2

cum mare imp wtant than coal?
(21

Why is petrol
il @ HgaY ) wear 87

jon spread from industries”

How does pollut
(2)

Wiﬁmm:imﬁmﬂiﬂ@'

What is the importance of watepways for India?

2 ewdld ¥/ Long Answer Type Questions

ore v 26 3l 27 4 oda v & g @ Rl o @ S S ax1=4)

wer any one of the
(4x]=4)

4

Questions No. 26 and 27 are Long Answer Type questions. Ans

Jollowing. "
Sdoren W @ - w & W @ e

Deseri ; - -
be the cffects of mining activity on the cconomy.
(41

Describe ¢ o
he characteristics of Indian Rail Transport,

Page 150! 16
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MU WU / Disaster Management
or? wT 29 @ 31 @Y GO 0T &) grik @ O 2 pwr o g &) ode B AV 2

Eoriad i & W)
Question No. 2810 310y short answer type. Auswer any 2 questions. Each question carries
2 marky. (2x2=d)

AN Tl Y TR e @ (2)

Wl il vou miean by Disaster?

. T3 oar ard wiRm Al faen S (2)
Discuss the damages caused by (T,

3. A O F G S S I A 3R (2
Mention any two measunes for sitety from carthyuake.

M TErE A A R 9w a ey R (2

Merton the measure for salety from Tsunimi,

fdzr A d@&fda waft srarard,
3%33?1? ;rnarqa ,Ugf%a
&8, 2ot

Uze Ut b fRe...

BSEBResult.In
Rffe® &

21 1]F
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yv$ -4/ SECTION-8
A ggo we1/Non - Objoctive Type Questions

¥y yadla weL/Shorl An Angwor Type Questions

gl / History
1 ypd) & IR Q4 ;r#e» & e 2 Yo

n s s @ s oy e unt €0 ) o Rl
‘ (3:2=g)

Mttty &4
Uueriton N, 1 1o 8 iy vhort anwer Ipe. Answer any 3 questions, Fach questivn carriey 2
(Ix2=4)

marks
Loowaes M) Qo oamoam ) & Q2

W hat okt ves eun I Ohtober Resolotuon!

AL34T magEh MY AR uree dsie Q

Nhat was the result of the Uil Dinobedience Movement?

A e A0 g RN Q)RR et ) Q
Esentlne any twercanses of the Fint Workd W

4 Mg anae 1A e &7 1
What is wisnhd mashel !

& uwglan am 7 gan s aumite @2 :

Wt is sanuscrpt What i ats ulilny

§d Iy 9%/ Long Answer Type Questions

v wew 6 s 7 Ind oty wva ) g @ R o @1 g & (ax1=4)

Questions No. 6 and 7 are Long Answer Type questions, Answer any one of the
Jollowing, (dxl=d)

6. AN & U ea Seefn ue wam 2 {
Thiow lght on the hife and acluesements of Lenin,

T uedi 0 @ R @ & '
Waie the characteristics of the Indian press.,
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